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     EXCEL CIVILS ACADEMY 
DAILY CURRENT AFFAIRS 

                                                    Date: 29-03-2022 

 

1. Inflation target under RBI Act is set by 

a) RBI 

b) Monetary Policy Committee 

c) Government of India in consultation with RBI 

d) Ministry of Finance 

 

2. The central employment guarantee council has been constituted under which one of the following Act? 

a) Payment of wages (amendment) Act, 2017 

b) Mahatma Gandhi National Rural Employment Guarantee Act, 2005 

c) Minimum wages Act, 1948 

d) None of the above 

 

3. Consider the following statements about the sea cucumber: 

1) There is a blanket ban on all sea cucumber fishing in India. 

2) It helps to recycle nutrients in marine ecosystem by breaking down detritus and other organic 

matter. 

Which of the above statements is/are correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

4. Which of the following is/are correctly matched 

1) Razzaza lake              - Iraq 

2) Chernobyl  - Russia 

3) Liverpool  - U.K 

Select the correct answer using the code given below: 

a) 2 and 3 only 

b) 1 and 3 only 

c) 3 only 

d) 2 only 

5. The ‘Net Zero Carbon Cities’ mission is an initiative by 
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a) World Economic Forum 

b) UN Environment programme 

c) IUCN 

d) None of the above 

 

6. With reference to the National Achievement Survey, which of the following statements is/are correct? 

1) It is a nationally representative large-scale survey of students learning undertaken by the Ministry 

of Education 

2) It is conducted in both Government and Private schools 

3) Its findings can help to determine interventions required in teaching practices and learning. 

Select the correct answer using the code given below: 

a) 2 and 3 only 

b) 1 and 3 only 

c) 3 only 

d) 1 , 2 and 3 

 

7. Which of the following species act as an indicator species? 

1) Lichens 

2) Mosses 

3) Frogs 

4) Coral reefs 

Select the correct answer using the code given below: 

a) 1 and 4 only 

b) 1, 2 and 4 only 

c) 1, 3 and 4only 

d) 1 , 2, 3 and 4 

 

8. Which of the following country is not part of BIMSTEC grouping? 

a) Maldives 

b) Thailand 

c) Myanmar 

d) Bhutan 

 

9. With reference to the Asian Infrastructure Investment Bank, consider the following statements: 

1) India is a founding member of this bank. 

2) India is the second largest shareholder of this bank. 

Which of the above statements is/are correct? 
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a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

10. Which of the following is India’s first “other effective area-based conservation measures” (OECM) 

site? 

a) Aravalli Biodiversity Park 

b) Wayanad Wildlife Sactuary 

c) Gulf of Mannar 

d) Silent Valley National Park 


